N = 0l & At & Ml A

20199 & 204 LB AHLIIEISESH 220t

2N BZZF0ie ot
Hu: AUE LEME P
S Lodiie EEsl ASEH (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Z 204 It 755,537,789 648,942,526 106,595,263
= 651,703,311
J| 5,793,167
< 98,041,311
HUE CsME SF 627,601,366 545,497,356 82,104,010
= 548,479,126
J| 5,690,000
< 73,432,240
LogXiiel ¥ ASEFE 62,423,855 36,594,619 25,829,236
= 52,504,103
< 9,919,752
cogxtel € AMFESKE(AZEX)(=D) 62,423,855 36,594,619 25,829,236
= 52,504,103
< 9,919,752
308 XtXIEHH SOl A 62,423,855 36,594,619 25,829,236
= 52,504,103
< 9,919,752
01 X HHILEES 62,423,855 36,594,619 25,829,236
o2+ & RHAEH 59,518,511
= 49,598,759
=) 9,919,752
OxsI| 2 Fetol 2,905,344
= 2,905,344
100AMIAICH, (HE AL R2IALY 6,321,480 10,241,791 23,920,311
J| 4,646,000
< 1,675,480
(SLE)100MAIE HEA X2l (=) 4,646,000 0 4,646,000
J| 4,646,000
308 XXM SOl A 4,646,000 0 4,646,000
J| 4,646,000
01 IXNSHHBNEES 4,646,000 0 4,646,000
O (SYE)I00MAILH oizal dXtel(Z2) 4,646,000
J| 4,646,000
(ML E)100MAICH 24 LXtel 34,000 32,200 1,800
201 Let24d] 7,000 7,000 0
01 At 22l 7,000 7,000 0
orLediel 2= MAE 2,000
OQE M= 3,000
O2LHN SAE EE= M 2,000
307 gl2tol & 5,400 3,600 1,800
02 It M AHE L 5,400 3,600 1,800
O HYXNJAHH &sH s N2 5,400
308 XXM SOl A 21,600 21,600 0




S Z2Z0Hel
Hu: AUE LEME P
S 100MIAITH, HEaAL X2 AFY (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 AIKSHMEAMNEX= 21,600 21,600 0
OANZ FHEXNIHYH E=H S KNH 21,600
(CIEHE)100MAICH 24 L Xt2] 1,026,480 879,840 146,640
307 gizto| A 1,026,480 879,840 146,640
02 QI2tAAMAIE E =X 1,026,480 879,840 146,640
ORIZIDg X2 945,000
oO2dI|& X2 & A =29| 81,480
(ESHE)100MAITE 2L X2 500,000 500,000 0
308 XX EHSOIA 500,000 500,000 0
01 AIKSHHEMNEX= 500,000 500,000 0
Sots 2d Xl MY 500,000
100MIAICH 2 A Xl AFE ZHOrU 3l 105,000 105,000 0
201 gEt24Ay| 5,000 5,000 0
03 Al A H| 5,000 5,000 0
OEALXel AFE ZEIHU 3| 5,000
308 MXIESHMSOIA 100,000 100,000 0]
01 AIXSHMENEXZ 100,000 100,000 0
OHEA LR AFY Al A A H] 100,000
AMLUOWHE2EYE =J|14xH XA 10,000 0 10,000
403 XX SHHS K20 & 10,000 0 10,000
01 XIS A2E X 10,000 0 10,000
OANLIHEY =J/&XH XN 10,000
CEMESAEDN ASEN EZO 508,244,213 443,972,733 64,271,480
= 481,087,118
& 27,157,095
LOIXEX A 25 170,513 273,313 A 102,800
307 2izto| A 170,513 137,513 33,000
03 QIZIHEHESIEHIEX 157,513 137,513 20,000
OAIBI S 29Hl X (eteelsl) 157,513
11 A EXAIEEX 13,000 0 13,000
OUfStL Q3 H]ATHE S LXK 2ATS 13,000
NELAESHRI| 2 29 XK (=1D) 960,216 911,600 48,616
= 480,108
= 480,108
307 2Iz2to| A 960,216 911,600 48,616
= 480,108
& 480,108
10 M SAANEEHESIGHEX 960,216 911,600 48,616
OLESHEEIH 24 XN&E 960,216
= 480,108




2M: JZF0He
M AYS LEME B
CHel: CSME SN AL &0 & (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
| < 480,108
sStimlol=oldEHH 2IXNA(=21) 185,412 179,200 6,212
= 92,706
< 92,706
307 gl2tol & 185,412 179,200 6,212
= 92,706
< 92,706
10 M3 SXNANEHI2IHEXR 185,412 179,200 6,212
Ostthuloicel ¥EdHH 29 XA 185,412
= 92,706
< 92,706
d2g d - ugyl ¥ ¥34 NA(=21) 3,254,700 0 3,254,700
= 1,713,000
< 1,541,700
308 XXM S0l A 3,254,700 0 3,254,700
= 1,713,000
< 1,541,700
01 IXNSHHBNEES 3,254,700 0 3,254,700
OZ2Y ¢ - dH & 2=H K& 3,254,700
= 1,713,000
= 1,541,700
229 29 243 N2 3,461,390 4,181,569 AT720,179
308 XXIEHSO0IA 2,078,390 2,861,569 AT783,179
01 AXNSHHEBAMNEES 2,078,390 2,861,569 A 783,179
oZd=2g 224l XA 1,629,752
OZ2Y =3 T2 )8 2eX X 162,168
OZdzY ZZ2Jd 294| X& 286,470
403 XXM S X201 1,383,000 1,320,000 63,000
01 XXM U422 = 1,383,000 1,320,000 63,000
odzY JlsEd K& 1,383,000
LololoHEd ¥ 223 Hd 216,400 273,800 A57,400
201 LBt 1,000 8,000 AT7,000
01 At 22l 1,000 8,000 27,000
ORLBSAL & HAIXIZA JHAS =2 1,000
307 212+0| & 13,600 16,000 2,400
1A S XA E X 13,600 4,000 9,600
Od= LoXNIASAF HEH &It XA 4,000
O0BIoIg D18 BZEZ #A 9,600
308 XXM S0l A 201,800 202,800 A 1,000
01 AXNSHHBANEES 201,800 202,800 21,000
orooyg JEd & 2HZ2 N SHE=EAN 20,000
okwoliis 28 Z2I3dl XI& 127,800




S Z2Z0Hel
M AYS LEME B
Sel: CSMEERI ASEO B CER-ED
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OAHOM=C XI& 54,000
Lol 3220 X 71,712 93,168 N21,456
308 XHXIGH SO0l & 71,712 93,168 N21,456
01 AIKISHHENEXZ 71,712 93,168 N21,456
OXx=x2 XA 71,712
=02 NS (XNMAMEZ)(=21D) 499,521,410 437,658,805 61,862,605
= 478,659,074
= 20,862,336
308 MXISHMSOIA 499,521,410 437,658,805 61,862,605
= 478,659,074
=} 20,862,336
01 IIXHAHIMNEEXTZ 499,521,410 437,658,805 61,862,605
OJl=d= 499,521,410
= 478,659,074
= 20,862,336
HA2S ZANKAMEH 29X (=21D) 284,460 281,478 2,982
= 142,230
& 142,230
307 2Iz2t0| & 284,460 281,478 2,982
= 142,230
== 142,230
10 MM SAANEEHESIGHEX 284,460 281,478 2,982
OZ=2E ZIAXNIHE 29 X 284,460
= 142,230
= 142,230
EAMI - ZEEI EHEQ SE8= X 48,000 40,800 7,200
308 XAHXIGHH SO0l & 48,000 40,800 7,200
01 AIKISHHENEXZ 48,000 40,800 7,200
OEAMI - E8I 28 HEY O e XA 48,000
S(H)N2LHEH 291 55,000 55,000 0]
307 QI2t0| ™ 55,000 55,000 0
11 A EXAIEEX 55,000 55,000 0
OS(%)XNAUMEH 29X 55,000
LOSXAIE A3 H HESEEH 22F 15,000 9,000 6,000
201 et 9| 9,000 0 9,000
03 A2 EH| 9,000 0 9,000
O AMAE3H HEH 29d| 9,000
301 et A= 6,000 0 6,000
09 SHAIAHI B A2 6,000 0 6,000
O AlE3H HEZ E=H| 6,000
Lolog - EXAAE &= 47,674,158 51,749,367 AN4,075,209




2N BZZF0ie ot
Hu: AUE LEME P
@ Lolog - SXAE &5 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 14,887,905
J| 1,044,000
=) 31,742,253
COIMEAIY 2HIE 29,609,793 26,536,411 3,073,382
308 XX EHSOIA 29,609,793 26,536,411 3,073,382
01 IXNHHNBMNEES 29,609,793 26,536,411 3,073,382
OFEINRYEE =20 X 29,609,793
COQAANLEEEIIsEY) A (=21) 753,634 11,111,270 A 10,357,636
= 376,817
< 376,817
403 MtXISHHE X201 E 753,634 11,111,270 A~ 10,357,636
= 376,817
< 376,817
01 XM A=2EE 753,634 11,111,270 A 10,357,636
OLQQAANE HF(JsEZ) 753,634
= 376,817
< 376,817
SSHNHIA SML ESEX 2 RS 252,840 233,400 19,440
307 21201 A 12,000 12,000 0
11T AL SXAEE = 12,000 12,000 0
OSSMElA SAA AR =S 12,000
308 XX EHHSOIA 240,840 221,400 19,440
01 HIXNHHNBNEES 240,840 221,400 19,440
OSsNHIA BAR 2SEX 240,840
LosslleMduAAe X2 (21) 6,818,822 4,593,656 2,225,166
= 6,264,170
< 554,652
308 XXM SOIA 6,818,822 4,593,656 2,225,166
= 6,264,170
< 554,652
01 AXHHIYEES 6,818,822 4,593,656 2,225,166
OLo=sII2AM8lAAMY X 6,818,822
= 6,264,170
< 554,652
LOEEEEAMUIA S BX(=2D) 6,468,662 5,578,266 890, 396
= 5,958,000
< 510,662
308 XX EHHSOIA 6,468,662 5,578,266 890, 396
= 5,958,000
< 510,662
01 HXNHHBHELS 6,468,662 5,578,266 890, 396
Ok ESsSETEAMEA HIHEX 6,468,662
= 5,958,000
< 510,662




A ZZF0HI
Hu: AUE LEME P
el ooz - STAME =5 (&)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SOIJFAFAHIA SO BX(21) 35,850 37,843 1,993
= 33,000
< 2,850
308 AHAIEHHSOIA 35,850 37,843 A 1,993
= 33,000
< 2,850
01 AXSHBLEELS 35,850 37,843 A 1,993
O IIJALMHI A &I EX 35,850
2 33,000
< 2,850
SHLO Algl2H 245Ag XA (21) 158,000 114,000 44,000
= 140,000
< 18,000
308 XXM SO A 158,000 114,000 44,000
= 140,000
< 18,000
01 IXNHHBANEES 158,000 114,000 44,000
OSHQ Azl 2d3tAg K& 158,000
2 140,000
< 18,000
SNko ES3HMe St LMHIA 2R ( 1,275,140 1,239,743 35,397
=1)
J| 1,044,000
< 231,140
308 XX EHH SOl 1,275,140 1,239,743 35,397
J| 1,044,000
= 231,140
01 IXNHHBNEES 1,275,140 1,239,743 35,397
O=No ST SSHHLHAMEA 2
XA 1,275,140
J| 1,044,000
< 231,140
HIOPEII D2 NGASNAAA AL (=) 43,417 35,126 8,291
= 36,181
< 7,236
308 XX EHHSOIA 43,417 35,126 8,291
= 36,181
< 7,236
01 HXNHHBNEES 43,417 35,126 8,291
OMIMNEIQYI|Z XISBAS K HAHAS 43,417
= 36,181
< 7,236
YZAE 2 NR(=D) 2,258,000 2,196,602 61,398
= 2,079,737
< 178,263
308 XXIEHH SOl A 2,258,000 2,196,602 61,398




22040
AYS LMY BY
LoloE - 2XAA =5

- - _ L3
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
= 2,079,737
& 178,263
01 AIKISHEMNEXZ 2,258,000 2,196,602 61,398
oAz A4 29l X& 2,258,000
= 2,079,737
= 178,263
SEIANE 29 I 2,937,660 2,407,646 530,014
AMNSIE2TAE 29 2,606,480 2,084,896 521,584
307 QI2t0| ™ 273,520 207,640 65,880
11T A EXAIEEX 273,520 207,640 65,880
OE A =EXAIE MK SX=E 263,520
OLQEXAAE SAA ARAEF 10,000
308 XNXIGHSO0l& 2,316,960 1,877,256 439,704
01 AIKSHHENEXZ 2,316,960 1,877,256 439,704
OANZ LS XAE SAMAN S 1,782,648
OAT HOHAEXAIE ESAAN EXNxEY 534,312
403 XX SHHS K20 & 16,000 0 16,000
01 XIS A2 X 16,000 0 16,000
OSAHLo 2224A JsEd X 16,000
Losx ™ =X 250,000 300,400 A 50,400
307 QI2t01 ™ 250,000 300,000 A 50,000
11T A EXAIEEX 250,000 300,000 A 50,000
OL=EXNEIAYE B2 250,000
ALS| S X AlE HO} 81,180 22,350 58,830
201 et d| 81,180 22,350 58,830
01 AR 22l ] 81,180 22,350 58,830
OAZIEXAIE HIHEHI=XAIA) 81,180
OI=X AMNEE 4 127,856,284 103,369,648 24,486,636
= 103,212,827
J| 103, 167
= 24,540,290
HOUA=SXAILE &5 L 2H 42,987,277 36,826,436 6,160,841
= 30,125,119
J| 103,167
== 12,758,991
HOAIY &5 F&X 935,053 783,266 151,787
201 Lt 2| 7,000 7,000 0
01 AF 22| H| 7,000 7,000 0
ORI Y Y F2tH AL =& 2,000
OHMU=SXRAKXS 2 4,000
OXMRUESXIHE AL ARAHARS 2ZAISES 1,000




A2
M ZOHASX Al

[ =
[

0 ZUHA=SXAIE ! ML)
o HE &
N-Z3E-eA(EA) - = Ofl &k o s
202 048l 7,000 7,000 0
01 =W OIHI 7,000 7,000 0
oz =xsH o =3 7,000
301 LetE 3,300 3,300 0
09 HAHAH] 3,300 3,300 0
ool BAT 24 3,300
307 212+0l ™ 505,822 443,169 62,653
1 A2l =X 2 505,822 443,169 62,653
OFOMAOIIINRHE S 82,091
oOFMABEHASY 2 136,425
OHOMe HOAANLNAME 2 287,306
308 Xt EHMI S 01 & 411,931 322,797 89,134
01 UXNEHHBAdEX3 411,931 322,797 89,134
OANZ ZOjezaags 29 281,931
OAZ Zofel BOANELXME X2 40,000
O2n2 UZAE H2d A 90,000
AANEEY ISWEZZ20Y 2 X2 (21) 128,959 128,325 634
) 103,167
= 25,792
307 212t0l & 128,959 128,325 634
p) 103,167
& 25,792
10 ASNANLEHE2SHES 128,959 128,325 634
oWNWEHE IZWEZ2IY AN 128,959
2l 103,167
S 25,792
Zoe MHENAMEH 29 516,649 458,768 57,881
307 212+0l ™ 353,819 349,162 4,657
1A SXAEE = 353,819 349,162 4,657
OAZZ ARSI AHE 2 41,957
OXH&:FMY WEXNHMEH 2 91,728
ONHFMHALNSANALMEYH 29 220,134
308 XHXI SR SOl ® 142,830 109,606 33,224
01 UXNEHHBAEx3 142,830 109,606 33,224
OANZ ANZZOjITXAHE 2 142,830
403 AR SHHMS K201 & 20,000 0 20,000
01 XXM A= 2 2= 20,000 0 20,000
OXNHFMHALXAME ZINLXIH K& 20,000
ZoHe 235 =& 212,000 179,341 32,659
307 212+0l ™ 212,000 179,341 32,659




fN: ZZF04
CHMA=EX AEE
Sel: ZHASIIAIE =

X ZH
S =

0x

o
=

=

ES

o
M0
02

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
11T M SRASE EX 212,000 179,341 32,659
OZOMQ HEFXA 28,000
OHUMUZESXNJAAMHZH 184,000
AZISXII2 SAA HRHA 132,120 0 132,120
307 gl2tol & 88,200 0 88,200
11 AL SXAIEE = 88,200 0 88,200
OMEIEXIIIZ BAXR HRHMA 88,200
308 XXM SO0l A 43,920 0 43,920
01 IXNHHBENEES 43,920 0 43,920
OAlZ A= X2 SAX HHA 43,920
Zoel MATHEALE 2 727,438 581,994 145,444
307 21201 A 697,438 581,994 115,444
10 ALSISXAIEEE2EHEX 697,438 581,994 115,444
Osdd=E2sHAdT 23 341,806
OSEESAYHH 29 355,632
403 MtXISHH S A0l & 30,000 0 30,000
01 XM A=2EE 30,000 0 30,000
OZMAXMNHAMMEAE JIs2S 30,000
Zoiel XIGASMEANE 29 3,752,475 3,026,085 726,390
201 et 3,000 3,000 0
01 At 22l 3,000 3,000 0
OFMA=SKAIE SAX ARAZS 3,000
301 et d = 6,000 6,000 0
09 SALAHIEAS 6,000 6,000 0
OFMA=SXAE BSALR A& AL 24 6,000
307 glz2tol & 3,743,475 3,010,485 732,990
10 ALSISXAIEEE2EHEX 3,743,475 3,010,485 732,990
OEXNEZANZ 24 158,115
OZOQ MEOISANIEME 2 315,056
Ootltgl=2AEs A 2F 137,077
O =0HSIHEH 2 332,906
OZATFMWASSHEXNZ2 29 2,589,186
OMetM=2tEsAs 29 211,135
ZUUH=AE 2EXNA(Z1) 29,209,404 27,615,329 1,594,075
= 26,852,873
< 2,356,531
307 gl2tol & 120,000 120,000 0
= 60,000
< 60,000




2N
X ZH -
L= B

el

ZZZ 0§t
ZOHA=X AEE
ZOHA=STAIE =

M

=
=o
5 g

=

H0
02

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
10 M3 SXNANEHI2IHE=S 120,000 120,000 0
OZofel 8 29 120,000
= 60,000
< 60,000
308 XX EHH SOl A 29,089,404 27,495,329 1,594,075
=2 26,792,873
< 2,296,531
01 AXHHILEES 29,089,404 27,495,329 1,594,075
OFHMANFALE 2 XA (AlT) 29,089,404
2 26,792,873
< 2,296,531
ZOHAHNZ=AIE LED WA XA (21) 28,580 0 28,580
2 23,817
< 4,763
403 Mt SHHSA=0l& 28,580 0 28,580
2 23,817
= 4,763
01 HIXSHMA=E X 28,580 0 28,580
OFOCIH=AA LED WXl 28,580
= 23,817
< 4,763
ZOHCIHF=AIE 2D X2 (KHA) 631,534 612,469 19,065
201 L2l 36,000 12,000 24,000
01 At 2t 2l 36,000 12,000 24,000
OTOMUANFAIE AQHAHEAMRE =Y 36,000
307 21201 A 383,314 329,436 53,878
10 ALSISXAIEEER2IHEX 378,342 321,297 57,045
OZofel stueIedIEss 29 221,032
OF ZsMeIE(stUedd) 22 63,909
OXe S=sMEIIE (0 ,0tL) 22 93,401
11 ALSI S AAIEE = 4,972 8,139 A3, 167
OFOC SSMEIN Mo" X 4,972
308 XXM SOIA 156,020 271,033 A 115,013
01 IXNHHBANEES 156,020 271,033 A 115,013
OFOe ZSMEIAE UMz X2 (AZ) 4,988
OFMAAHN=AIZ 22 dEgerzd X& 151,032
403 X SHHE A0l & 56,200 0 56,200
01 XS 56,200 0 56,200
OFMWANFANL Js2Y 56,200
HOCIEATHEAIE JIsE2AE(=1) 1,980,768 1,660,554 320,214
= 990,383
< 990, 385




2N
X ZH -
L= B

el

A2 H0H B
BN AYE §
FoISTAL 5 L 2

SN FH-SA(EN) - MBAY - BES 0l &F 24 il HlnE2
402 BI2FX=01 M 79,860 44,440 35,420
= 39,930
< 39,930
02 QI EASEZ (01X ) 79,860 44,440 35,420
OZOMAXMATHE AL JISEB2ZAS 79,860
= 39,930
< 39,930
403 MHXISHE X201 & 1,900,908 1,616,114 284,794
= 950,453
< 950,455
01 X SHHN2E = 1,900,908 1,616,114 284,794
OZMHAMATHE AL JISEZAS 1,900,908
= 950,453
S 950,455
ZOAX A HEANE JIsEL NE 50,000 30,000 20,000
402 RI2EX20| ™ 30,000 0 30,000
01 2I2E 2 A B (REM ) 30,000 0 30,000
OXOHQIMEQISKAHE & XA 30,000
403 UtXISHHS =0l & 20,000 30,000 A 10,000
01 HAXSHMA=2EE 20,000 30,000 A 10,000
OZOMAXIAMSITHEAL JISsEL XA (Al 20,000
ZOUAHZ=AL JisBZAL (=) 4,142,964 1,267,288 2,875,676
= 2,071,482
< 2,071,482
403 XIS E X201 & 4,142,964 1,267,288 2,875,676
= 2,071,482
= 2,071,482
01 X SHHAN2E = 4,142,964 1,267,288 2,875,676
OFHMUANFAIE JIsEZAEY 4,142,964
= 2,071,482
< 2,071,482
ESHAXNSMELH X2 (Z2) 242,533 239,217 3,316
= 186,564
< 55,969
308 MXIEHSOIH 242,533 239,217 3,316
= 186,564
< 55,969
01 HXNHHBHELS 242,533 239,217 3,316
OZSHMHANSHEXNZME X 242,533
= 186,564
< 55,969
ESTMHANSHMSXAMME X3 (KA ) 60,500 91,000 A 30,500
308 XXM SO A 60,500 81,000 A 20,500




2N

ZZZ 0ol ot
X 7 A
(=R B

ZOHA=EX AMEE &4
ZUHA=TAIE &5 2

= =

el

H0
02

_ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 AIKSHMEAMNEX= 60,500 81,000 A 20,500
OZSSHMNAXHMEXAMEH 2H 52,500
OZES XS METRNAMH T2 29 8,000
ZOQ S 23 117,800 117,800 0
307 2Iz2t0| A 65,000 65,000 0]
1 AFSIE XA E X 65,000 65,000 0
OHOMe XIHHEA 2 XA 65,000
308 XAHXIGH SO0l & 52,800 52,800 0
01 AIKISHEMNEXZ 52,800 52,800 0
O&MeA2 =2 XH 52,800
O EXNAIE 2 2 HUER 28,500 10,000 18,500
307 QI2t0| ™ 28,500 10,000 18,500
11T A EXAIEEX 28,500 10,000 18,500
OE-E28 ZMnE 28,500
ANEgMetel 2H X3 90,000 0 90,000
308 MXIESHMSOIA 50,000 0 50,000
01 AIXSHMENEXZ 50,000 0 50,000
OXgME e 2HHl A& 50,000
403 XX SHHS K20 & 40,000 0 40,000
01 AIXISHHMA=Z2E X 40,000 0 40,000
OXNE MEr =& x)|A-XH K& 40,000
SOl MEtortd & THEX 83,901,669 65,308,800 18,592,869
=2 72,956,423
= 10,945,246
O JI=MESAE XA 122,360 84,600 37,760
308 XHXISHHM SO0l & 122,360 84,600 37,760
01 IXHHIMNEXS 122,360 84,600 37,760
OZ0C HZ20 &3 2H A& 6,400
O 234 XN 92,160
OFOQ HAZHE X 23,800
ool E=SXf¥s X (=21D) 28,356,565 18,590,686 9,765,879
= 26,117,889
=} 2,238,676
308 MXISHHMSOIA 28,356,565 18,590,686 9,765,879
= 26,117,889
& 2,238,676
01 IXHHIMNEXTS 28,356,565 18,590,686 9,765,879
OXMC &sXd20 X3 28,356,565
= 26,117,889
= 2,238,676




fN: ZZF04
X ZOL=EA ANEE =
H

SOl FONQIMEOIE U THE X CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
B2 a0 (=21) 43,830 21,062 22,768

= 40,370
< 3,460
308 AHAIEHHSOIA 43,830 21,062 22,768
= 40,370
< 3,460
01 HIXNHHNBHELS 43,830 21,062 22,768
oOZsEX JHat20¢ 43,830
= 40,370
< 3,460
SSHML Bs2x N3 1,650,172 174,520 1,475,652
308 XXM SO0l A 1,650,172 174,520 1,475,652
01 IXNHHBNEES 1,639,172 164,520 1,474,652
o=ssZMe gs2x XA 1,639,172
1037/ 2S0HUHSEH4EAE ALS I 11,000 10,000 1,000
O=3ZHML EsE2ZXNF A RIS 11,000
Zoje sxLAel XN (=21) 1,408,029 1,143,648 264,381
= 1,173,358
< 234,671
308 XX EHSOIA 1,408,029 1,143,648 264,381
= 1,173,358
< 234,671
01 HIXNHHNBMNEES 1,408,029 1,143,648 264,381
oFoel =XLXxtel X 1,408,029
= 1,173,358
< 234,671
Zopol guty dxiel(=12) 3,584,506 2,802,189 782,317
= 2,987,088
< 597,418
308 XXM SOIA 3,584,506 2,802,189 782,317
= 2,987,088
< 597,418
01 AXHHILEES 3,584,506 2,802,189 782,317
OFHel ety L Xxtel X 3,584,506
= 2,987,088
S 597,418
ORI LRl X2 (AR L Xel)(=22) 602,704 449,396 153,308
= 502,254
< 100,450
308 MtXIEHMSOIH 602,704 449,396 153,308
= 502,254
< 100,450
01 HXNHHNBHELS 602,704 449,396 153,308
OZOH LAl M XKtel Xl & 602,704




2N
X ZH -
L= B

el

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
= 502,254
< 100,450
dZ2Y AZEO0HQl OFOtAN A (=2 1) 494,038 485,191 8,847
= 470,513
< 23,525
308 XXM S0 A 494,038 485,191 8,847
= 470,513
< 23,525
01 AXNSHBLAEES 494,038 485,191 8,847
O AI2HZHOH I OHOFAL TIHA 494,038
= 470,513
< 23,525
LN QLAES A B AH (=1 57,362 25,744 31,618
= 47,802
< 9,560
308 XXIEtH S0 A 57,362 25,744 31,618
= 47,802
< 9,560
01 IXNHHBANEES 57,362 25,744 31,618
OLZTMAURAES A XI& 57,362
= 47,802
< 9,560
ZOHQ MASEHIAIE X (=1) 164,410 161,470 2,940
= 65,764
< 98,646
307 21201 A 164,410 161,470 2,940
= 65,764
= 98,646
10 M2 SXNANEHE2IHEX 164,410 161,470 2,940
OFHMAS EIHAIE 29 164,410
= 65,764
< 98,646
ZOHQ MASEHIAIE 243 X3 78,500 78,500 0
201 LB-2d| 3,500 3,500 0
01 At 22l 3,500 3,500 0
OFHIMAT EHIHER EE 3,500
307 21201 A 75,000 75,000 0
10 ALSISXAIEEE2GHEX 55,000 55,000 0
OXZOHCIMAZ THOHAIE OHAELH XA 55,000
11 AMISIAIEE S 20,000 20,000 0
OFMHAMAT EEHAlS 20,000
Zoerzg 203 (=21) 33,084,071 29,591,143 3,492,928
= 29,315,000
< 3,769,071




‘:i/\_|~
2
DEMU=EXN AMEE 4

el

X ZH
S =

ZZZ 0§t

TOHQIMBON U KHEK

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET

308 X EHSOIA 33,084,071 29,591,143 3,492,928
= 29,315,000
< 3,769,071

01 HIXNHHBHNEELES 33,084,071 29,591,143 3,492,928
oOFelHA=z XA 33,084,071
= 29,315,000
< 3,769,071

Fo=gOlx) N2(=21) 3,693,814 3,753,373 A 59,559
= 3,273,000
< 420,814

308 XXM SO A 3,693,814 3,753,373 A 59,559
= 3,273,000
< 420,814

01 AXHHBILEES 3,693,814 3,753,373 A 59,559
OF=1ES=INI=IPIES! 3,693,814
2 3,273,000
< 420,814

o2 (Hae) N=(=21) 3,091,157 3,145,882 ADB4,725
= 2,739,000
< 352,157

308 XtXIEHH SOl A 3,091,157 3,145,882 AB4 725
= 2,739,000
< 352,157

01 HXNHHNBHEELS 3,091,157 3,145,882 AB4,725
OTM=L(XHate S) 3,091,157
2 2,739,000
< 352,157

Zojelelzd NA(=1) 1,475,162 807,862 667,300
2 1,404,916
< 70,246

308 XX EHSOIA 1,475,162 807,862 667,300
2 1,404,916
< 70,246

01 HIXNHHBNEES 1,475,162 807,862 667,300
OZOQ 2=zl XA 1,475,162
=2 1,404,916
< 70,246

NASHOQ Atdl L ZAH X2 (22) 31,571 31,571 0
= 26,309
< 5,262

308 XtXIEHH SO0l A 31,571 31,571 0
= 26,309
< 5,262

01 AXHHBIYEES 31,571 31,571 0
OMASZOC ASH L HAHl XA 31,571




‘:i/\_|~
2
DEMU=EXN AMEE 4

el

X ZH
S =

ZZZ 0§t

TOHQIMBON U KHEK

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2

= 26,309
< 5,262

EXIFuR(=1) 82,011 82,011 0
= 78,106
< 3,905

308 XXM S0 A 82,011 82,011 0
2 78.106
< 3,905

01 AXNSHBLAEES 82,011 82,011 0
OFOMOUAEERI 2 XA 82,011
2 78,106
< 3,905

ZON0L It =X (F2) 934,623 569,644 364,979
= 654,236
< 280,387

307 glz2tol & 934,623 569,644 364,979
= 654,236
= 280,387

10 ALSISEXAIEEE2EHEX 934,623 569,644 364,979
OHMOIIE 2=XE ALY 934,623
= 654,236
< 280,387

LITHEAMUIA BIRH™ XS (22) 2,871,007 2,449,839 421,168
= 2,644,350
< 226,657

308 Xt XIEHH SOl A 2,871,007 2,449,839 421,168
= 2,644,350
= 226,657

01 HXNHHBHELS 2,871,007 2,449,839 421,168
OLEMHEMHIA HISH ALY 2,871,007
= 2,644,350
= 226,657

AHEGRE HIRH X (=21) 16,850 9,417 7,433
= 15,520
< 1,330

308 XXM SO0l 16,850 9,417 7,433
= 15,520
< 1,330

01 HIXNHHBNEES 16,850 9,417 7,433
OAUUHLEXNH B2XH ALY 16,850
= 15,520
< 1,330

Mo OlSTHE XI2dH 29 8,000 8,000 0

308 XXIEHH SOl A 8,000 8,000 0

01 IXNHHBANEES 8,000 8,000 0




PN Z2Z2E0HA
I Foe=x
ool gy 8 HaElH (Sl & &)

= - = 4 &
SH BB (3H) - NRAE - BAS of 4 o4 il HI RS2
OAME2 OISHEXNZHEH 29 8,000
O EL JtAH= R0l XI 2 A 20,000 40,000 220,000
307 glztol & 20,000 40,000 220,000
M AMSIMNSER 20,000 40,000 220,000
OWEZOML JtAIE<0l XI& 20,000
LM NHFFAXNE(20)(HEY) 88,571 60,000 28,571
= 62,000
£ 26,571
307 212t0l & 88,571 60,000 28,571
= 62,000
S 26,571
M ASIMSER 88,571 60,000 28,571
OLEHM HEFAXZ 88,571
= 62,000
S 26,571
ZZEA UIENH(2D) 53,865 54,600 AT35
2 51,300
S 2,565
308 XtXI &t X S0 & 53,865 54,600 AT35
= 51,300
< 2,565
01 XM BaE2ES 53,865 54,600 AT35
O23=d HIEXN(21) 53,865
= 51,300
£ 2,565
LI R2H4ENE(Z1) 14,115 10,312 3,803
= 13,000
= 1,115
308 XXM SO0I& 14,115 10,312 3,803
= 13,000
= 1,115
01 UAXEHHBLEES 14,115 10,312 3,803
OgEHMY FR4E XN& 14,115
= 13,000
S 1,115
YR 22DT A (2D) 20,000 0 20,000
= 10,000
S 10,000
307 212t0l & 20,000 0 20,000
= 10,000
< 10,000
10 AR SAAIEHIES2SHIEX 20,000 0 20,000
OZEHM RF2uFAE 20,000
= 10,000
= 10,000




2N
X ZH -
L= B

el

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ANALLHNAXNAMH 29 N (=21) 652,000 488,000 164,000
= 326,000
< 326,000
307 gl2tol & 652,000 488,000 164,000
= 326,000
< 326,000
10 AL SXNAIEEE2EH EX 652,000 488,000 164,000
OXNILEHMNAXNALH 29 652,000
= 326,000
< 326,000
LM FAEBSAHEA X (F2) 540,143 0 540,143
= 497,500
< 42,643
308 XX SIS0 & 540,143 0 540,143
= 497,500
< 42,643
01 AXHHILEES 540,143 0 540,143
OLLEHM FAEBSMHEIA XA (HRH) 540,143
= 497,500
< 42,643
LY LUSE SSMHHIA X (22) 374,137 0 374,137
= 344,600
< 29,537
308 XX EHH SOl A 374,137 0 374,137
= 344,600
= 29,537
01 HXNHHNBHEELS 374,137 0 374,137
OLLHMY NS SSMHHIA X (HRH) 374,137
= 344,600
= 29,537
N ZoHAASSII2 2SYNA(2D) 193,096 190, 140 2,956
= 96,548
< 96,548
307 glz2tol & 193,096 190, 140 2,956
= 96,548
< 96,548
10 AL SXAIEEE 2 H EX 193,096 190, 140 2,956
OXS ZoAABSII2 23 193,096
= 96,548
< 96,548
e Zopelddsasia 29 XS (KHA) 95,000 0 95,000
307 glz2+ol & 95,000 0 95,000
N T EES 95,000 0 95,000
OXNe B AASSIY 2Y 95,000




SRAR
X ZH -
L= B

el

ZZZ 0§t

A=K AEE 4

TOHAAINA & ALSI E O = T

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
SOHQIAINA L AFS Z O &Y 967,338 1,234,412 N 267,074
= 131,285
& 836,053
ZHOR QI QIFEHH SHAIF A 39,800 44,600 AN 4,800
307 212t0| ™ 39,800 44,600 AN 4,800
11 A EXAIEEX 39,800 44,600 AN 4,800
OXLd T =s0toIth 3l 7,200
OZofel stots &AL 3 15,000
OAURLE =00l ==0/0HE 3,200
OE X ZH0|2 Y SMAXH 7,200
OXLJ L XNEAEMASXUE XA 7,200
Z0He 23 M=EsAY 16,000 10,000 6,000
308 AXIEHSOIA 16,000 10,000 6,000
01 AIXSHMEMNEXZ 16,000 10,000 6,000
o2& O #HEUS HAEEY 16,000
oAl JHMH F=& 44 500 44 500 0
201 LBt | 4,500 4,500 0
01 AP 22| d| 4,500 4,500 0
OO =X CHA AlA 4,500
307 QI2t0| ™ 40,000 40,000 0
11T A EXAIEEX 40,000 40,000 0
OIS Y J|ESHAF 40,000
ZOHC AS & &0 =& 223,000 323,000 A 100,000
307 212t0| & 223,000 323,000 A 100,000
11 A EXAIEEX 223,000 323,000 A 100,000
OXNXEZER 2208 29XH 8,000
oO&e JNsdIlUa XA 15,000
OHMAUA=SASIAIE B2 200,000
ZOHCICHH 243 X3 326,500 532,500 A 206,000
307 2Iz2to| A 100,000 130,000 A 30,000
11T AISIEXAIEEX 100,000 130,000 A 30,000
OO HASX 100,000
308 XAXISHSO0I& 50,000 85,000 A 35,000
01 IXHHNIMNEXS 50,000 85,000 A 35,000
oOcHN=E ¥ Sy Tz 249 50,000
403 XX S M S K201 & 176,500 277,500 A 101,000
01 XIS A2E X 176,500 277,500 A 101,000
OHMAXNSAMIEXNAE JsE22 50,000
OZMHRIHH JsEL 126,500




2N

X{ XH -
S =

£

A2 zoholn
ZOHOIZR AT S4

oL Jo

DA AINS & OALSI EH O =

. SfE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
ofEFMe nEXA(=Z1) 92,378 91,292 1,086
= 85,085
< 7,293
308 XXX S0 A 92,378 91,292 1,086
= 85,085
< 7,293
01 AXSHBLEELS 92,378 91,292 1,086
OWLZMR NEXA 92,378
= 85,085
< 7,293
Ol Fel EdHIE NA(=1) 50,160 58,520 A 8,360
= 46,200
< 3,960
308 XXM S0l A 50,160 58,520 A 8,360
= 46,200
< 3,960
01 IXNHHBANEES 50,160 58,520 A 8,360
OdZTHe s&tHIE XA 50,160
= 46,200
< 3,960
JH X =X S 175,000 130,000 45,000
307 21201 A 10,000 10,000 0
11T M3 SRASEEX 10,000 10,000 0
OXH Mo Kol & K& 10,000
308 XXM S0 A 135,000 120,000 15,000
01 AXNSGHBLAEES 135,000 120,000 15,000
OXH Mo AHAS A 22 75,000
OXHTMHES ELstAS 60,000
403 MHXHHSA=0l& 30,000 0 30,000
TAXEH =2 X 30,000 0 30,000
OXHHH UM JsES 30,000
#Y2HIH (Z2H0e ) 80,139 75,522 4,617
= 11,358
< 68,781
ol 2 gl 40,592 39,004 1,588
= 11,358
< 29,234
Cogitel 2 AMSESXE(HE)(=21) 40,592 39,004 1,588
= 11,358
< 29,234
101 14 Hl 40,592 39,004 1,588
= 11,358
< 29,234
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